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1 (al Candidates_allowed 10min!ltes kl fillup the basic information

about themseM:ta in the OMR answer s/lBet such as Name,
AoJINo. etc.

(b) After \his, question booklet will be gillen to the candidates they
are mqWed to do the following:
(i) Exanine the booklet and to see that all paper seals at the

edge of the booIdet 8IlI intact. Do lICItaccept the question
bookktt if.-r ••• are not in1ect.
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1 W V~ 1:fSf ~ ~ ~ ~ ~, fGr-rc6T~llffOjql( ~ (f'lT V~ C6T~ r.."'1ltLtli< ~ :

~ ~ 1Jr-I.-n.n P.1Jr-I
1 ~~ 01-40 40
2 ~~ 41-80 40
3 m1WfOI' l1R 81-100 20

1ftq 100
2 tEl V~ ~ T(Jll'. 100 V~. ~ 1 t 100 "6'5 ~ -qct mcs V~ ~ ~ C6Tt I

~ Vr-f ~ t ,~ ~OIJ{qii6 'l(i'fOliii6'1 0JtY t I

3 Vr-f ~ t ~ tf'fl vr-iY ctr ~ ~ ~ ~ ~ 'CI\ tfr 1ft ~~ 'i qn- ~ I
~ t\" V~-~ ~ ~ ~ ~ I ~ ~ fit; \Ji'Cf't ~ 't\'tn i,t V~ tlfb1~d
i' 'lIT Vr-f ~ ~ at ~ t lIT V~ ~ t\" ~ t ~ i6l ~ ~ ~ -e- ~ I

4 V~-~ ~ ~ V'ii6Tt ctr .~ ~ UlR 'CI\ \!i VtfIt 1 5 ~ ~ il(c{~ii6( ~

V~~~~~,
5 Vr-f ~ q ~ tmV~ ~ t ~ 1{\\0 'CI\ ~ ~~ csT UiI'1'{4ii6 ~ -qct

~ ~ 'i ~ ~ 11Jr-nifi ~ it 1ft ~.1pI.am. ~ ~ 1R61*4"'4\'14" ~ m
<fRW\~~1

6 ~ ~ V'rn CfiT~~!lili\G(, ~ ~ lIT ~. ~ V'ii6Tt t i3F£I" ~~if?(Ir..ii6 ..,Qii6(OI ~

m~ ~CfiT'~<6\oIT~t I

NOTE <

1 This paper has Three Sections, which Subject wise description and division of
Questions as follows.
Sr. No. Sub'ect Question No, Total Question

1 Physics 01-40 40
2 Chemistry 41-80 40
3 General Knowledge 81-100 20

Total 100
2 This question booklet contains 100 questions numbered from 1 to 100 and each

question-carry 01 mark. AUquestions are compulsory. There isno.negative marking.
3 Tally the number of pages alongwith no, of questions printed on cover page of the

booklet. Also check that question booklet cOhtains the questions of, all relevant
subjects/topics, as required and stated above and no repetition or omission of
questions is evident.

4 If any discrepancy is found in the Question booklet the same can be replaced with
another correct question booklet within first 15 minutes.

5 Before answering the questions please read carefully the instructions printed on
the back cover page of the question booklet and strictly follow them,
Indicate your answers by blacking bubbles carefully only on the O.M.R. Answer
Sheet provided.

6 Use of any type of calculator, mobile phone or any other electronic equipment and
log table etc. is strictly prohibited.
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(A) b
a b

(B) a

I I, ,
II;,' ,

1 Two spheres A andB of radius 'a' and 'b' respectively are at same electric
potential. The ratio of the-surface charge densities of A and B .is :

~ ~ A afR B mcCr Bl,wuq 'a' ~ 'hI l, ~ ~ fcf1fCr ~ \",

~~~~T~C6r·~Wn:

a b
(A) - (B)b a

a2 b2
(C)

b2
(D)

a2

2 Electric potential at equitorial point of a small .dipole with dipole
moment p (at a distance r from the dipole) is :

\1 10

p

p
(B) 41t EO r2

2p
(0) 41t EO r3

(A) zero

~.mt ~ ~ c6tPt<llftq ~ tR fqq -« r ~ ~ fcrqcr ~ Wn,

~ ~ C6f~ fqq ~ p t (~ rfqq -« ~. l)·

(A) ~~
p

2pp

ANDBD-OIB/14_7 ] 4 [Contd •••
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3 The intensityofe1ectric field due tq, a ~rmly charged infinite cylinder
of radius Rata distance r (> R) from its axis is proportional to :

(A) r2 (B) r3

(C) r
1

W6 'ijlIR Wl· 'j ~Ta" R ~ ~ ~, ~ $\- ~ j r Itt lIT

~ ~ $\- -aoon (1"llql~ lMrir (> R) :

(A) r2 t (B) r3't

(C) ; ~

4 Human eye if most sensitive to visible light of the wavelength :

o
(A) 6500 A

o
(B) 5500 A

o
(C) 4500 A

o
(D) 7500 A

o
(A) 6500 A

o
(B) 5500A

o
(C) 4500 A

o
(D) 7500 A



5
11,

The human eye has a lens which has a :

(A) Soft portion at its centre

(B) Hard surface

(D) Constant refractive index

(C) Varying refractive index

I
I
I

i,
I
I
t
t

6 When the electrical conductivity of a semiconductor is due. to the

breaking of its covalent bonds, then the semiconductor is said to be :

(A) Donor (B) Acceptor

(C) intrinsic (0) Extrinsic

~ ~ ~ottll(i\(fi cit Fclwfl~ tll(i\(fidl (1&t:i<l,'JfI arwrr ~ ~ -« ~

~ t -at ~ ~~'Cfl(i'jq; -q;) ~ iffl'ffi t :

~~OlB/14 __7] 6 [Cohtd ••.

(A) ~ (B) ~

(C) ~ atottll(i\(fi



Ll
(e) L2

ANDHD-OtB/t4_7 ] [ Contd ...

7 For the circuit .~own tQ,echargeon capacitor will be :

Rl

E r

(A) eE (B)
eER2
R1+r

r.

(e) eERl
(D)

eERl
R1+r R2+r

8 The maximum possible mutual inductance between two coils of
inductance LI and L2 can be :

(A) ~LIL2 (8) Je

LI ~ L2 ~ c6t GT togR;wtjl ~ 1JSJ ~C6dq li1fCf ~ ~

~W6OTt:

(A) ~LIL2 (8) ~



/

>

(A) M> LO T-I (B) M> L-I ~

(C) M LO 'fO (0) M> L T-l

e4)Cf){OI y = a sin (wt + kx ) -qWC6T~~t

(A) M> LO T-I (B) M> L-i TO

(C) M LO 'fO (0) M> L T-l

I, I
9 Dimensional formula of w in equationy = a sin (wt + lex) IS

1

10 The dimensions of coefficient of self inductance are

(A) ML2 T-2 A-2 (B) ML2 T-2 A-I

(C) ML T-2 A-2 (0) ML T-2 A-I

(qg{UI ~ c6t ~ t
ML2 T-2 A-2 (B) ML2 T-2 A-I

f,
(A) !
(C) ML T-2 A-2 (0) ML T-2 A-I !

f

11 When a ray of light enters a glass slab from air, then :

(A) Its wavelength decreases

(B) Its wavelength increases

(C) Its frequency decreases

(0) None of the above

~ ~~l c6t ~ ~ 'ij- cniT.r t ~ (Slab) -q ~~l qmfi t
(A) ~ d(l,aaf ~ t

(B) ~ d(l,aaf ~ t

(C) ~.dt
(0) ~ 'ij- ~ ~

ANDHD-OIB/14_7) 8 [Contd •••



t2 WHen JI. lisIJt ~'Itm~'fMo}water~>. qdlfjty ••• ~,. ."
uft~ is ,ifI : .

(A) ~ (8) ~de

(0)., '';wtveleQBth(C) Frequency

~ ~ Rmm<~:-i ·~>-qr,.~jt;~"\RfitiT·~ ~
-:':'tf . ;,

ilqI\Cf~-mnt?
(A) 'ftt (B) ~

(C) • (0) i$(1fllii

13:' Th. J)ottom 0f .• -:~ ·ftIledwidt· -iiqtJid,3P~ slishtlY raised
~~of:

tCl Uiltactivtt (0) "'~n

••i .q\' ~ ••• $ift .• 4••••. ""'., ',IS' ~ •. ! '... "
'. '- d;'~C-\ <t :~~~-t~~'_'t:::-*:~~~l.~~

- "j '.

(A) ~ (8) .ftR6(Q,

(C) ~

(A.) Einstein (8) NewtOit

(C) Maxwell (0) 'Raman

(A) \!(~

(~) ~1ftI~••

~tlJt"_71

(8) ~

(D) \JR,



15 Which of ...~ ..following s~ent~ about kinetic ..theory of gases
is wrong? .

(A) The molecules of a gas are in continuous random motion.

(B) The molecules continuously undergo inelastic collisions.

(C) The molecules do not interact with each other except during collisions.

(0) The collisions amongst the molecules are of short duration.

(A) -tm t ~ Wild\{ tn~M~ ~ l I

(B) -tm t ~ i.i1~lId\{ ~ ~ Cffffi l

(C) ~ t ~ ~iID ~ ~ ~:fs6tn ~ ~

(0) ~aU t 1la:r ~ ~~ ~ ~. ~ ~ l I

16 One metallic sphere A is given positive charge where as another identical
metallic sphere B of exactly same mass as of A is given equal amount
of negative charge.. Then:

(A) Mass of A and mass of B still remain equal

(B) Mass of A increases

(C) Mass of B decreases

(0) Mass ofB increases

~ ~~ Aq;).~ ~~T~~l, ~ aR~·~

1fM B q;)~~ $(CIQ"II'1 A t 'WfA t, 'WfA ~-~~T ~ ~ i,~:

(A) A ~ B C1it $(&4'11"1 ~ ~ "«'1Ft l

(B) A C1it $(CIQ"II'1 ~ i

(C) B C6T SIOCIQ'lI'1 ~ i

(0) B C1it SIOCIQ'1I'1 ~ t
ANDHD-OIB/14_7 ] 10 [C(Nltd~••
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17 Wben air is ~ by a dieleetricmediulnof cOOstant k, the··maximuJn
force of attraction between two cbarge$$eparat~ by a distance :

(A) Decreasesk times

(B) Remains unchanged

(C) Increasesk' times

(0) Increaseskr! times

~ en ~:tn t 1ft1f ~ t ~ 'R ~ Q(,ayai(6 cmn 11JWq '1ft ~

~ n) ~ ~ m~ atf\1ctmq ",,(64•• 'fir :

(A) k,~ ~ 1T ~

(B) ~Qft~4f~a"Wlt

(C) k~~~

(0) leI ~ 'qi ~

18 A body can be negativelycharged by. :

(A) Giving some electrons to it

(B) Removing some electrons from it

(C) Giving some protons to it

(0) Removingsome neutrons to it

M ~ em s(ulIcl~'Rf ~ \ill ~ t :

(A) p ,M~I..,i3fi) ~ -«

(B) J'8 ~~~T.,~ ~ -Q

(C) p~~~-Q

(0) p ~ ~ ~-«



1,

(A) Short sightness or My6pia. .

19 A person uses spectacles of power +2D. He 'i$. suffering from:

(C) Presbyopia

(B) Long sightedness or Hypermetropia

(0) Astigmatism

(A) Ptq;q~ .~. lIT ¥f1q')fq~l.

(B) <i\<C!~ ~ 'lfI' ~,~q(q~fQ~1
(C) IJ1 (IC!ftz ~

I
t
I

(0) ~-~

t
~.

I
I
!20 When objects at different distances are seen by·,the eye, which of the

following remains constant ?

(A) The focal length of the eye lens

ANDHD-OIB/14_7 ] 12

(B) The object distance from the eye lens

(C) The radii of curvature of the eye lens

(0) The image distance from the eye lens

~ • am ~ ~ ~ 1ft mil' ~ t 'ffl PtlO1~f&d .q -«

~~-mnt ?

(A) ~ ~ <fit lfilqffi ~

(B) ~ ~ -« ~ cCr '<[fr

(C) ~ R~ 'CijfffiT~Gqlq



~

I21 A person is •.std&.Iing. trOlJlthede(ect asti~sm .•Its main reason is:

(A) Distance. of the eye lens from ret1ha is increased

(8) Distance of the eye lens from retina>is decreased

I~(C) The. comeaisnot spherical

(0) Power of accommodation ·oftheeyeis decreased

ANJ)HJ).OlB/14_' ] 13

(0). cif .. ~. IlOOIl·lfil{·.l111t··,

22 In extrinsicP and N type,.•semiconductor materials, the·.ratioof the impurity
atoms to the pure semiconductor. atoms is about:

(A) 1 (B) 10-1

(C) 10+4 (0) .10-7

P-~ ~ N-~.~ df:.4'E1IW6 ~ .~. ~ ~~ ~.~ ~a1l
~ .~. ~ .11ffi '" :

(A) 1 (B) 10-1

(C) 10+4 (0) 10-7



(C) 10-6-ij- 10-10 (0) 10-10 -ij- 10-16

23 At ordinary temperature the" electrical conduetWity of semiconductors

in mho/meter is in the ran~e :

(A) 10-3 to 10-4

(C) 10-6to 10-10 (0) 10-10 to 10-16

~ arq lR at;JqlWb ~ ~ T.llijfq;dlmho/meter .q: M 1ftffi .q:

1ltfr t:

(A) P-type semiconductor is formed

I
I
~'

24 When phosphorus and antimony are mixed in germanium then :

1,
I
I
11
e

(B) N-typesemiconductor is formed

(C) Both (A) and (B)

(0) None of the above

ANDBD-OIB/14_7 ] 14

(B) N-~ "'~IWb· ~ 00 t

(C) (A) ~ (B) .~



25 A piece of ~uctor is co~ed .~ series in. an el~c circuit.
On increasing the temperature, the current in the circuit will :

(A) Decrease (B) Remain unchanged

ANDBJ)-OIB/14_7 ] IS

(C) - Increase (D) Stop flowing

~ ~ ~.~ "1~I(ifC6 ~ 11iT ~ ~ ~uftsfi~ ~ ~. Q(RfT t.
dNAi't ~ lIT ~ ~ ~ :

(A) ~ (B) ~ ~

(C) ~ (D) '-lTU ~ ~ ;Jl'~

26 In intrinsic sefuiconductor at room temperature, number of electrons
and holes •• :

(A) Equal

(C) Infinite

(B) Unequal

(D) Zero

(A) ..JIfA (B) \}fe'tl""

(C) aFRf, (0) ~

27 Polarised light can be produced by :

(A) NaCl crystal (B) Nicol prism

(C) Biprism (0) Prism made of flint glass

~ 1fCim ~ CfR ~. ,

(A) NaCI·~ 'MU (B) ~ ftr-;q 'MU

(C) ~~'MU (0) ~ C6N._ ~ 'MU



(C) "tfU~ ~

28 In which of the foHoVvmgPblitisatlort:is' hot),~te' ?

(A) Radio waves (B) Ultraviolet rays· .

(C) Ultrasonic waves ,(0) Lillit waves
~4'i1~Rsld ~ t ~ ~ ~. ~J?
(A) ~ m (B) q(~~'~

29 If equal and opposite forces applied to a body tend to elongate it,
the stress so produced is called :

(A) Tensile stress (B) CotDpressive stress

(C) Tangential stress (I» Worldng stress

~ ~ Cif~qad ~ ~ .~ • ~ '-q ...~ .=t ~ ~ 1tfttw
Cb$~ldl·t :

(A) -ao=rt ~

(C) w~"fuifq·~
! (8) eJCft ••••

", (0) q;I4qnQ Iftitl(~

30 Which one of the foHowUtg.qU@Dtiti~, ~s ,~Qt bav~ the lJIlit of ro~
to.. .. _.',_,".c.' • ,.. ,••• 1 'c' '.:""~: " .• ' \< . !

per unit area?

(C) Young's modulus of elasticity

(D) Pressure

(A) Stress

(B) Strain

(D) ~

ANDIfD..01B/14_7) l'

I
I

t
i
I
I
I
~'

~ -q ~ fctR:r "Ufu:c€r,'~, lIftJ.~;~ "R, •••• hd 111( .•
•... "._ ; ' .. " .. -.' .. '- ••.• : ". 'c.." " .. .. I .. ',' .. ;

~t-~~t ?

(A) ~

(B) ~



(A) Electron.,« (B) Proton

~) ~

(0) ~

(e) Positron " " (0) Neutron

ftV w ri it i • ~1.,·.,,:?!1 ii',

(e) qr~,,4

3i 1 atnu is equal to :

(A) 1 g (B) 4.8 x 10-10 esu

(D) 1.66 x 10-27 kg
;;":',:"-: ')'>'

(e) 6.023 x lOZ3 gtn
~;;; "B~:h£; 1"{,'~r!v ;~~~

1 anru $T lfR mt t:
(A) l' g

(e) 6.023 xnl()23 gut',

17

(B) 4.8 x lo-lOesu

(0) 1.66 x lo-27'kg

33 the tOtal-'.~' ota particleex~tiUg· simple harmonic motion is
(wbd't X is the displ~ment from the mean position) :

(A) cc x (B) ee ~

(e) Independent of x

.~;~~"1ftr; ~ ···~lPrc6t·~t~'(~ x= <Pi' C6T (11t4lq~

-« f4Ef4I~"):

(A) oc x (B) oc x2

------- --"l



34 Ball point pen and fountain pen work .respectively on thtfprinaple of":

(A) Surface tension and viscosity f
I
I

\
(B) Surface tension and gravity

(e) Gravitation and surface tension

(D) Surface tension and surface tension \,
f
i
J

•

35 A current of 1.2 amperes is flowing in a Cu voltameter. Number of
Cu'" ions being liberated at cathode per minute is :

(A) 120 x 1018 (B) 225 x 1017
,

(e) 225 x 1018 (D) 120 x 1017

-qcn Cu q)\i(;I4\l{ .q 1.2 q~tC{ mu gcllfta i I t~ lIT. ma- ~
~ ~ ~ Cu++ ~ tit' ~ t :

(C) 225 x 1018 (0) 120 x 1017

(A) 120 x 1018 (B) 225 x 1017

ANOBD-OIB/14_7 ]



(C) Diode-valve (D) None of these

I

. 36 Which of.~~9~1 ..pas."ll.Jinear.;~~ ?

(A) Copper wire (B) Aluminium wire

~ -q ~ ~ m.tn ~ (non linear) l ?

(A) o1l ifil tIR

(C) ~~

(B) ~4\Pt4q ifil' ({R

(D) ~~ ~ ~

37 Nature of: which of the following rays is not electromagnetic ?

(A) X·Rays (B) Microwaves

(C) a·Rays (D) Radio waves

~ -q ~ ·ftFr attiY ~ ~ • ~cfi)q ~. t ?

(A) X-~' (B) ~cqa(~·

(C) a-~ (D) ~ crt1T

19

38 Radio wave diffract around building although light waves does not.
The reason is that radio waves :

(A) Travel with speed larger than C

. (8) Have much larger wavelength tban light

(C) Are X·rays

(D) Are not electromagnetic waves

~ atiY 1fi6R (~) ~ ~qMa *'" t ~ "Jlfim m~,
~.~ atiY:

(A) C ~ ~ Tmr ~ 111R ~ .,

(B) 1Ji&m -« ~ d (41,tef "OOft- ~ I

(C) X-~ ~ l'
(D) • ~~q atiY ~ .,

--------~-- ~.l



(A) He4 (B) U238

39 Which of the folloWing material is fissionableViith thermal neutrons?

(e) U235 (0) Np239

(A) He4 (B) u238

(e) tJ235 (0) Np239

ANDHD-OIB/14_7 ] 20 [Contd •••

40 The force between a neutron and a proton inside the nucleus is :

(A) Only nuclear attractive

(B) Only coulomb force

(e) Both of the above (A) and (B)

(0) None of these

(A) M '11~filC4 ~

(B) ftf4;~~

(e) cU'1l (A) afR" (B)

(0) ~ -« ?ilf ~



I
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41 According to VSEPR theory~.'~ sh~:of Ammonia (NH3)
molecule is :

(A) Pyramidal (B) Trigonal

(C) Square planar (D) Octahedral

42 Radon (Rn) is produced by the radioactive decay of the following:

(A) Ra

(C) Np

(B) Th

(D) Pu

(A) Ra (B) Th

(C) Np (D) Pu

43 The following isotope of carbon is used in Radiocarbon dating :

(A) 6C11 (B) 6C12

(C) 6C13 (D) 6C14

ANJ)JJD-OIB/14_' ] 12 [Co•••d•.•



(A) Ca2+ (B) Pb2+

(C) Ba2+ (0) Be2+

ANDBD-OIBl14_'] . 23

44 The radius':tMio"of sodiUrlt chloride (Na£l}is();S2 hente'ltS shape is ~

(C) Square planar

(B) Tetrahedral

(0) Octahedral

(A) Linear

(A) ~

(C) q-.f e'1dit

45 Which of the following.aqueous solutions (0.1· M) will show the highest
freezing point depression at 25°C ?

(A) NaCI

(0) BaCl2

~ -q -« -m ~ ~ (0.1 M) 25°C lft i3=aqd'1.~ ~

RCSlI~·1i ?

(A) NaCI

(0) 8aC12

46 Which of the following ions forms most water soluble sulphate ?

(A) Ca2+ (B) Pb2+

(C) Ba2+ (0) Be2+



47 Which of the fQlIowing'can. be co~dere4 a redox reaCtltm?'

(e) Fe+ seo 4 Fe(eO)s

;: .', ..' .

(B) 2NaOH+ N02 + NO ~. 2NaN02+H20

(C) Fe+ SCO ~Fe(CO)5

48 pH of a solution containing [OH-l = 0.1 m~. will b.e :

(A) 1 (B) 4

(e) 10 (D) 11

(A) 1 (B) 4

(e) 10
\

(0) Ii

24
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J I
(A) StrOn&.·acid and strQQg;J)ase "

(B) Strong acid '.~ weak- .•

(C) Weak acid and weak base

(0) Weak aqid and strong' b"

i'_:-" __ ,'.:

(B)' ~ A ~'....~ -,$"{

(C)' ~'~. ~ ~ 'm

s4).' Bisntiuh209 ~a~i2(9)" is last stable etement of which rif the following natural

ractiG~ setiel' ?

(A) 4n (B) 4n+ 1

(C)· 4n+2 (0) 40 + 3

_2oi~~~'~,. ~..~.fir«. MfaCti 'fg~;nl 1tif ...~~.~i,.'?
(A) 4ti (B) 4n+ 1

(C) 4il+2 (0) 4n+ 3



--'

t

51 A gas will show ideal behaviour-at :

(A) Low temperature and low Pctessure

(B) Low temperature and high pressure

(C) High temperature and low pressure
i

1(0) High temperature and high pressure

51 20 ml. of 0.1 N; 30 ml of ~ and SO.rU. of 0.2 N solutions of hydrochloric

acid are mixed. What will be the normality of the final solution ?

(A) 0.14 N (B) 1.4 N

1(C) 0.1 N (D) 1..0N

-·'fClliMlfi.' A'O.lN$ 20ftr.~.'~ ~'" $ 30 ':fq.ft.f. ~. 0.2 'N t

SO fq.ftl.ltA' ~(iilqH ~ ll11 n.(ii~"t tir "tIQ(iidl ~ M ?

(A) 0.14 N (B) 1.4 N

(C) 0.1 N (D) 1.() N

ANDIIJ).OlBl14 7 ]
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J(0) HCI04

(0) HCl04

equilibrium, the t~ will be :

(A) 600 K (8) 500 K

(C) 950 K (0) 750 K

(A) 600 K (8) 500K

(C) 950 K j,(O) 750 K

;.~ ~ ~.l



(A) 7

(C) 10

(B) 9

(D) 11

55 At 25°C, thesolubilityprod,uqt,QfMg(OH)2is Lq)(Jo-ll. At which pH,
Mg2+ ions will start preclpitatingin the form of M8(OH)2 from a solution
of 0.001 M Mg2+ ions,l

Mg(OH)2 lffi· 25°C ..'IT ~~qdl ~ 1.0 x 10-11 t I fttR:r pH 'IT

0.001 M Mg2+ ~ .~. PI(ifq~ ~ Mg2+~, Mg(OHh ~ ~ .q
~~·~m? 1

AND~OlB/14_.7 ]

(A) 7

(C) 10

.(B) 9

(D) 11

56 The o?ridation,state of ~ganese(Mn)in J(2MnP4,Js .:

(A) +7

(C) +5

: (B) +6

.(D) +4

(C) +5

(B) +6

;(D) +4

(A) +7

.'

57 Boron can not form this anion :

(A) BH.t-

(C). BFs2-

(B) B(0H)4-

(0) B02-

(A) BH4-

(P) BFi-

(B) B(OH)4-

(D) B02-



(C) 'WNt.,

AND1IJ).OlBli4~7 )
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sa The t 1 .of·a reaction' is half on) aoubwig the. ·irlituu·cort~on:\t,f the
2:

, ' ~:: - - .. . ' -reactants.What is the order ot the reaction"? .

(A) 1

(C) 0

: (B) 2

(1)4

~ "'~.cU 1tSTt 1 atm. 1T ·;;ffint ~ "'~~Al'''.~'..~ lfit
2

~t I t« atA:tf5tu ·cfit··~.·~~·t ?

(A) 1

(C) 0

';'(B) 2

,(1) 4

!, .Which one' of the following' is c rtot··' a .Transition rltetal··1

(A) Ti

(C) Tl

· (B) Fe

(0) Ni

(A) Ti (B) Fe
.!

(C) Tl (0) Ni

. , .

60 Potas~wn (K) is the member'of the family of-

(A) Albli m_s

(C) Halogens

'. '.

(B) Alkaline ~ metids

· (ll) Noble gases

(A) mtN~· · (8) 1ftTfrq. ~ •..~.

> ;,,'(0) ~ ...~



(C) Potassium Hexacyanoferrate (Ill)

(A) PotassiumHexacyanoferratefll)

(B) Potassium ferricyanide

(0) Prussian Blue

62 By heating a mixture ofK2Cr207 and NaCl with Cone. H2S0~.~the ey~lved
deep red vapours (X) are when passed into the aqueous solutl6n ofNaOH
then (Y) is formed. (X) and (Y) are :

1

(C) Cr02C12, N~C:r04

~DlIJM)lB/14_7 )

. (D) Cr, N~S

30

~ •."$sfi)ill afrr NaCl iW ~JJIUTC&l "URt H2..804 .~; .~ ..~ .•cm-... .... 1ft
1. .;,.',.,-_." ..

m ~ itJ.iW CfPIf (X) l8t ~. iiRifItf NaOH iW P-i"q., ~ ·!;jq,ad ~

• CR (Y) ~ llaT t I (X) afrr (Y)lr:



·.0), I

•

63 The calculatedvalue ofmagneti~ mommt (3.81 "B:M.)corfeSpOltdstothe

transition metal ion possessu, the number of unpaired 'electrons in
d-orbital is :

(A) 1 (B) 2

(C) 3 (D) 4

qftCfi'*'d 'S•• cfi)q anqvi (3.87 B.M.) err l{A m 1laT t •. eli ••ul tt1§

.a1l'A' i; d-i5H ~ ~. ~M~I". 16)-~ t :

(A) 1

(C) j

(B) 2

(D) 4

64 Because of Lanthanidecontraction, among members of Lanthanide

series :

ANDIIIJ.OIBl14_. 7) 31

(A) La is smallest in size.

(B) Pm is smallest in size.

(C) Ce is smallest in size.

(D) Lu is smallest in size.

(C) Ce iQIR. ~ ~ lIlGr lTdl t I



(C) Primary and secondary valencies are ionisable.

(A) PrimaIy valency is non-iceisable.

(8) Secondary valency is ionisable.

(0) Secondary valencies are directional. 1

~......•'" ....

(0) fmftqt$e<ilG1q;dl ~~"gmM t I

66 The outer electronic configuration of Np, a member 'of-Actinide
series is :

(A) SF 6d17s2

~"~OlB/14_7 ].r- -.,

(D) 5fl 6d47s2



I
(A) NH3

(C) AsH3

(B) PH3,

(1)) H20

(A) NH3.q

(C) AsH31t

(B) PH3~

(0) H20t

'* Which of the following alkenes wiJlgive the •• : ~ wI*t
• treated with HBr in the presence and in the ab$enCt of peroxide ?

(A) Propene

(C) 2 - Methyl;..pt:opene

(Dr Butene - 2

(:Q):Butene -'1

(A) ~

(C)2-'~~

(8) • - 2

(D)'~'-l ;'~

~. ,-'

" Phenol, when distilled with zinc dust, gives :

(A) C~sCHO (8) C~ v . ',

(C) C~SCH3 (D) ,·.C6lis1q,G;%

'{ ',:.':1"

(A) C~CHO

(C) C~CH3G

~1B114_7]



70 The correct sequence of number of carbon atomspresent in (a) CNG

(b) Diesel and (c) Petrol is :

(A) a > b > C (B) b > c > a

(C) c > a > b (0) a > c > b

(a) CNG <lft' ~~) (b) ~ q (c) ~ -q \3qftqa ~ ~~

cfr~iiT~~t:

(A) a > b > c (B) b > C > a

(C) c > a > b (0) a > c > b

71 Which of the following reactants will react with acetylene ?

(a) Na/Liq. NH3

(b) Me MgBr I ether

(c) CuCI 1NH3 (aq.)

(A) (a) and (b) only (B) (a), (b) and (c)

(C) (c) only (0) (a) and (c) only•

(a) Na/Liq. NH3

(b) Me MgBr Iether

(c) CuCI 1NH3 (aq.)

(A) tCRif (a) q (b) (B) (a), (b) q (c)'

'(C) tCRif (c) (0) tCRif (a) q (c)
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77/ ""2.95g' dt.;tmide;.'ObtainedtroDl/ltCOOH;····oo(:~.·'With'8lkali
evolves 0.85 g. of ,ammonia. R in the acid is :

(A) H (B) C2HS
;,!.3

(C) cH3 (D) C6HS

;,RCOOH:-e-~'M~i • 2.95 "g'.',.tRrl• m r.J.Pf·m.lR Q,85 g

1~-qR':

74 Percentage of Cand H in all organic C9mpound.are 68.85 and 4.91
respectively. Its empirical formula will be :

~ qil.r..f6 ..~ -q C q H •. 1S1Rr"ttltilm:68.85 q 4.91 'I

~ ""l"~f6~ 1ltn :

(A) H (B) C2Hs

(D) C6HS

73 Eth« is an :

(A) J\J1tis~tic (B) Analgesic

(0) Anaesthetic(C) Antipyretic

(A) Slftt"~

(D) ~ttq)

(A) C3~O

(C) CgHs

(B) C7~02

. (D) C6~02

(B) C7~OZir

(D) C6~02

(A) C3~O

(C) CsHs

,ANDHD-olBl14_' ) 35
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(C) CaC2+2H20 ~
\'

JP) CH3MgBr+CH30H ~
, ". III .~

1

ANOJm.01B/14_7 ] leNtd ••.

76 Two moleculesof" formaldehyde"are' obtained on ozonolysis of :

(A) ethyne (B) ethene

(C) ethane ' ';(D) propene

(C) ~

"(B) ~

;{D) 'MtfR

(A) ~

77 In 1 - Butene - 3 - yne, 0 'and 1t bonds are :

(A) 50 and S1t '(B) 70. and 31t

(C) 80 and21t (D) '60 and 41t

'1 - Butene - 3-yne -q 0 aen 1t·~t:

(A) SOaenS1t (B) 7(j ''(ftfT 31t

(C) 80 a-'-n 271: (D) 6o.aen 41t
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78 Onesan4I.~!p'~Qftllp;.,am~l,numberare availabte.'Wbat

is the rniD1iDiunriumier of e~onSthat will bereqlliredto fin these
orbitals so thaf'eath orbitalhas.~t leastoneelectroniin th~8round'~e?

(A) 8

(C) 5

.(B) 4

(D) 3

~qql~ ~ t ~.s ~ 'af.f pCtifi \3q(il~'~ 1~~CW;I'1lctfr ltfR

~ ~ anq:tqCfi.~.~ ~"f))m·-q~~.~~-q
.CPJ "«. Cf)1{ ltCfi_~~I'1 .~. ~ .•.•-q...~ ?

(A) 8

(C) 5

(B) 4

(D) 3

79 The outer electronic configuration ofArgon(Ar) is :

(A) 2s22p6 (B) 3s23p6

(C) 4s24p6 (D) 5s25p6

(A) 2s22p6 (B) 3s23p6

(C) 4s24p6 (D) 5s25p6

80 The strength of Hydrogen. bond ranges from :

(C) 20 to 40 kcal

(B) 40 to 80 kcal

I Q?)t, to,,8 .Iccal

(A) 80 to 100kcal
;, .

81_111fl'1 ·~.tJ·· "cit' .~.q;r .-qfurr.' ,. :
. - <;:

(A) 80"« ..100 fctmT '.~

(C) 20"«40 fctmT ~

ANDJID-OIBl14_' 7]

(B) 40"« 80 ~.' ~

(D) 2"« 8~ ~

.~~~~~ __ ~ __ ~ ~l
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(A) 601120 (B) 801120

(C) 80/140 (D) 100/150

(A) 601120 (8) 801120

(C) 801140 (D) 100/150

82 Blood Group of an Universal Receiver is -

(A) A

(C) 0

. (8) B

(D) AB

(A) A

(C) 0

(8) B

(D) AB

83 The pH value of water is. -

(A) 5 (8) 6

(D) 8(C) 7

(A) 5 (8) 6

(C) 7 (D) 8



84 Bhoja Shala of Kjng J:lhoja was' ttcentte ..of -

(A) Yoga Practice (8) Medicine

(C) Archery (0) Sanskrit Studies

(A) ~~ (B) ~t"(11

(C) tijfijell, (0) ~.~

85 Light year is an unit of -

(A) Distance (B) Time

(C) Mass (0) temperature

~ .t ~
,-

(A) ttt 1fit (B) ~ t6)"
':. . ..;-

(C) stoq'll~ c6t (0) t1N"'" c6t

86 First living white ti. was captured in the jungle of.-~ ~, "~ ~.,

(A) Siberia (B) CorM!Park

,(C) Awanti (D) Rewa
.A~,

11'f.l1{ ~. ~ .. ~ i5f1m ~ ~ .~ f.fr ?

(B) ~~

(0) ~

40

(C) ~
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87 Which of the following city is known as 'city of lakes' ?

(A) Jahalpur (B) Bhopal

(C) Sotal (0) Amarkantak

~-q-«~~m 'dl(itlGl"Y 16T~mt ~ "ijfK1T t ?

(A) (B) ~1l1i1\i1!1)<

(C) ~ (0) \3f"<cb lCf)

88 In 2011, the population of Madhya Pradesh in crores was _

(A) 5 crore

(C) 7 crore

(B) 6 crore

(0) 8 crore

(A) 5 ~ (B) 6~

(C) 7~ (0) 8~
:_/

89 Mahakaleshwar Jyotirlinga is situated at -

(A) Ujjain (B) Kashi

(C) Vaidhanath (0) Ratneshwaram

"81i:6IM~Cft w.(jfaMJI ~t -

(A) ~ (B) 16T~fr

(C) ~~~ (0) ~~
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(A) Uttar Pradesh (B) Bihar

(C) Gujarat (0) Rajasthan

~ ~~T fcfi"« ~~ ~ ~ :Ian 'lff t ? j
(A) ~ ~~T (B) ~ 1
(C) ~ (0) ~

90 Madhya Pradesh is not bordered by the state of -

(C) ~

ANDHD-OIB/14_7 ]

(0) ~
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91 The High Court of Madhya Pradesh is situated at -

(A) Jabalpur (B) Bhopal

(C) Indore (0) Ujjain

(B) ~

(C) ~ (0) ~

92 In ancient period, which city was known as Avanti ?
/

(A) Malwa (B) Vaishali

(C) Ujjain (0) Gaya

(A) ~



I
93 Rajeev Gandhi Khel Ratria Pw'aSkarswete initiated in _

(A) 1990 (B) 1991
(C) 1992 (D) 1993
~ ~ "fir WI. 3(&1< ~ ~ ~ ~ -

•
(A) 1990~ (B) 1991 -q

(C) 1992 ~ (0) 1993 -q

94 Khajuraho Group of Monuments has been declared by UNESCO
as the -

(A) World Heritage Sites

(B) Classical Group of Temples

(C) Temples of Folk Culture

(0) Temples of Tribes

(§~(I¥) ~ Wi' ifi) ~ l; am ~ .~ Tfln l -

(A) ~~~

(B) ~~~

(C) ~.~l;~

(0) iJi'1iJilfaQl·l; ~

95 Lakshmibai National Institute of Physical Education is situated at -

(A) Jhansi

(C) Durg

(B) Bundi

(0) Gwalior

(A) 1iRft . (B) ter
~ (0) JCjl~~{(C)
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(A) Print Media (B) Hyper Text

96 Which of the following is not related with Modem Information and

Communication Technology ?

(C) WWW (D) Internet

(A) ~~

I
1

(A) Moon (B) Earth

(C) ~ ~ ~

97 Ozone Layer absorbs most of the Ultraviolet Radiation of -

(C) Sun (D) Sea

~ ~ ~ ~" ~~lql(i'I~GliIf4>(ulq;) ~~ .i6\

ttfrl? •
(A) ~ (B) 1!e:cfr

(D) ~(C) ~

98 World Environment Day is celebrated on - 1
(A) 8 September (B) 15 August

(C) 5 June (D) 5 September

(A) 8 fijdqc( (B) 15 \WRd"

(C) 5~ (D) 5 ~dqc(
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99 Which 0000£. the following is largest ?

(A) Kilobyte (B) Terabyte

(C) Megabyte (0) Gigabyte

~~-«cfiR~~t ?

(A) ft6" (B) ~(lill~l\"Ilifl~l

(C) q·llill~l (0) .".lIill~l

100 DTH stands for -

(A) Doctor for Total Health

(B) Digital Television House

(C) Directed Towards. Hinduism

(0) Direct to Home
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INSTRUCTIONS REGARDING METRO.

OF ANSWERING QUESTIONS

(Please use Black ball-point Pen) (fi1PHBlackball-point t.:r iIiTm 'iIif)
~ USE BLACK BALL POINT PEN ONLY ) ~ <: USE BLACKBALL POIHTPBlONLY) ~

1 Method of Marking Answers : 1 ~ ~ iIiT ~ :

To answer a question, please darken ~ ~ t ~ an.~.~. ~ lift?;
one bubble out of the given four, in 1{ ~~ g-~ t m+R ~ 'tfir l:ff'{
the OMR Answer Sheet against that ~ It -« ~ ~ ~ qIT ~ Cl)fffi"
question. ~ I

2 Valuation Procedure : 2 mi... _ :
There are four alternative answers to a ...~ g-~$. ~ ~1l1fcra~ ~, ~
question, only one of them is correct. ,,~"l{C5 ~. ~ i I ~~ Ctil ~ iftt\
One mark will be awarded for each .3ffitffi ~ -«. "Ffi q ~ irn I~.
correct answer, ifmore than one bubble ~ .-« ~ ~ ~ ~ ijJffi i ~
are darkened for a question, it will be ~ lwrr ~ ~ ~.:if q;) g-~"ifq;r
presumed that the candidate does not
know the correct answer hence, no ~ \ffi\ ~ ~ i ~ ~~
mark shall be awarded. atq; ~ ~ ~Tr I

~.cit ~ ifWn 1tT ~ :

~~lJf~~t~~
W ~ -« 1ft ~ ~. t fulllfof qIT
~ ~'qCf orlf ~ I ~: iftt\ q;r~ m t ~~.g-lI"ififtt\ ifiT ~
~"'loft'{4C6 c6t I
3ir.~.31R'.~ dre ~ cit ~ :
(i) ~."C6l \re\ ~ ~ t ~

~ q;"{ ~ fct;.~. l!ftG t
~~~~~~-Ofllf,
-mwr~, &('dllfl{, g-~1f-~ (fiT
~, ~~",fnd WA~ ~-
trct; 111: ~ .~ I

3 Cancellation or Change in Answer: 3
It will not be possible to change the
marked bubble with black ball-point
pen; therefore, .correct answer should
be carefully chosen before marking it
on OMR Answer Sheet.

4 Handing over·ofOMRAnswer Sheet 4
to Invigilator :
(i) Please ensure that all entries in the

answer sheet are filled up properly
i.e. Name, Roll No., Signatures,
Question Booklet No. etc.

(ii) CANDIDATESARE PERMIITED
TO CARRY AWAY THE
QUESTION BOOKLET WITH
THEM AFTER THE
EXAMINATION.

5 Care in Handling the OMR Answer 5
Sheet:
While using answer sheet adequate care
should be taken not to tear or spoil
due to folds or wrinkles and the
impression does not come behind the
Answer sheet.
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(ii) q"ft1ftT ~ q"ft1ftTfff q;) g-lI"if

~~~'i~~c6'r~

3ir.~.~. ~ ~t ~ ~61C1t1lof'1:

~~fgC6f~m~~~
~~m:I~m,~lJf
~~-«WU1J1f~~~~
lffi;r .~ -« 1'ffiirr ~ ~ ~ mqlflifr
-« 'C6t fct; ~ f§14iC6"1 ~ lIf\G t .
~1tT1J1{~~ I

•


